TSWREIS: 5th Class Admission Test-2023 Question Paper with Key

Held on 23-04-2023 .
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Bl (Q.No. 1-20)
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PART - B
ENGLISH (Q.No. 21-45)

21. Pick the odd one out.
(A) Washing clothes
(B) Folding clothes
(C) Ironing clothes
W Reading bOOI{E

22, Fill in the blank with suitable pronoun.
Harini is a good girl. ... likes to help others.
AT She ‘

(B) He
(C) They
(D) We
Y

23. Identify the noun in the below given sentence.
Ricky's father is always nice to us.

24. Identify the wrongly spelt word.
(A) relevant

AB) separate
(C) untal
(D) recieve

) mi‘ M of these is not an action word ?
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e Read the following passage and answer the given questions.

Pandavas and the K vas came to the

day, Dronacharya, the 10 Koura B
fnreatoul:i.ih :}dog. for hunting. Suddenly the dog started barking. An arrow
came from somewhere and struck the mouth of the dog. Another arrow
followed it, and another. Seven arroWs came one after the other.

26. Where did the arrow hit the dog?
(AT The mouth
(B) The stomach
(C) The leg
(D) The neck

27. How many arrows came ong aﬂ&r the other ?

(A) Watching
(B) Smelling
{Cy” Shouting

(D) Hearing

29. Why did they go to the forest ?

W For hunting

(B) For enjoying «f
(C) For relaxing _.: |
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g80. Who came to the forest »
(A) Dronacharya
(B) The Pandavas
() The Kouravas

}pf All the above.

B Read the poem and answer the following questions.

“Think ...... " said the Robin.
“Think ...... " said the Jay
Sitting in the garden,
Talking one day.

“Think about the people.
The way they grow.
They don't have feathers
At all, you know.

31. Where the birds are sitting in the poem ?
/Hf In the garden.
(B) On the building.
(C) In the forest.
(D) On the trees.

_:-ﬂ;f Who don't have feathers at all ?
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33. What are the two birds mentioned in the poory, 7

(A) Robin
(B) Jay
4€7” Robin and Jay
(D) None of the above.

34. Identify the silent letter in the folloWing words.

Talk, Walk, Chalk

(A) a ' ,\-l
B) h %\
5 k (M
(D) 1
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88. Fill in the blank with correct articl,

Suma wants to buy ...... orange.

(A" an

(B) the o

(C) a AN
(D) few >

89. Fill in the blank with correct preposition.
The carpet is ...... the floor. N 4
(A) under p
v £ >y )
(B) of ._..-,f \ |
(C) in >\
N J 3
o on D™
\ "

40. Idﬁtﬁlﬁ the adjective in the below given sentence.
ﬁ;‘ﬁk&s blue balloons.
...; L quﬂ
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PART - C

itres of jujce in glasses tha
200 ml. How many such glnm: uj:::qliﬂmd ?

20 2 Beog Sk 3 200 b, 53 g Basroold, GO0 MR
2 EREEYTAN? "

(A) 15

(B) 12

@ 10
(D) 8
What can be measured by using Centimeters or Meters ?

& Length

(B) Weight '.(
(C) Temperature (. &
(D) Money

(A) 2ED
(B) &9

(C) aJud
(D) & !
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21,27,33,39,......

KT 46

(B) 47
(C) 44
(D) 45

50. How many grams are there in 2 kilogramsg 2 Y

2 3¢t maased® 25, masasewrass?
(A) 500
(B) 1000

7 2000

(D) 1500

51. Iam a three digit number. I have 5 in hundreds place, 3 in tens place
and 8 in ones place. Who am [ ? |

3333@30&950.%%5&.%@&#3&%%3;&“
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(C) 385
(D) 583
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oen chilli and

53 Vanitha purchased 2 kg. of tomat .of gr
atoes, 260gm rried ?

500 gm. of carrot. What ig the tota] weight Vanitha co

(A) 3kg
(B) 4kg
(C) 7 kg 250 gm.

@ 2kg 750 gm.
525 2 8.7, © w5, 250 g0, 33, 2ussgraivas 590k 500 - IS

Bl S0 0o Job XY Ko Eromaiess aveet?
(A) 3 3.
(B) 4 3.
(C) 7 &.pv. 250 .
(D) 2 3.;pv, 750 g

If one third of 60 note books are used,

?ﬂu number of note books

unused 15 ......

60 Fos mamf‘wm?&n,ﬂf .
X

(AT 40

2 YT WOPg wenearenee

(B) 30
(C) 60
(D) 50

55. Write 1308 in words.
(A) Thirteen hundred eighty.

(B) One thousand thirty eight.
(C) One thousand three hundred eight.
(D) Thirteen hundred eighteen.
1308 5 STeé’ e
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(D) SShrEsoloNgAMS
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60. Aboy can read 17

340 pages ? he can read

e
pagesin o day. In how many days,

What is the peri .
61. 0y Bl pernimeter of the given figure ?
) 54m
(C) 56cm
(D) 56m

S0y 5830 50635°60 Job? 3mi 75
(A) 54 mo.b. 3h| e (. 3

62. The descending order of 259, 654, 794, 385, 645.
259, 654, 794, 385, 645 o> et wood! o
© (A) 259,385, 645,654,794,

 (B) 794,654, 645, 385, 259.

(O 794,645, 654, 385, 259.

(D) 259, 385, 654, 645, 794.
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my father's weight ?
(A) 22kg
(B) 64 kg
(C) 60kg

ABT 66 kg

> g 22 Lgp, S g SRR 7 sy B B Vg gl w8 5
TR B Q0b? F

(A) 22 .. (,

(B) 64 g |

(C) 60 3.,

(D) 66 3. ‘, ‘

64. My weight is 22 kg. My father’s weight is 3 times my weight. What is %
i

65. If© =8, then OOCQ =? ,

e N & ‘

50 =8vaxd OO0 =7 ' -
(A) 24 Q ___ﬁ.' :
(B) 40 . R
(C) 36
Dy 32

3 .

66. How many lines can we draw in the given ﬁmﬁomahit into
mﬂlhm ? T ’
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}Al 21 hours

(B) 20 hours
(C) 18 hours
(D) 15 hours

(D) 15 newes

¢68. Sum of the all odd numbers between 110 and 11535 ...
110 S50a3 115 © 208 L) ol O teze :

K 225 \

(B) 220
(C) 114

[ (D) 224

6. How many edges do brick-shaped object has ?
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PART - D
ENVIRONMENTAL SCIENCE (Q.No. 71-90)

F 71, The Osman Sagar projoct was constructod on the river ...

(A) Gangs
H) Musi

(C)  Krishna
(D) Godavari

AT D SDBERS cuvneann DO WP, 0 !
(A) Noi 4
(B) zaoh f *V

€ 3
(D) Riowso | |
2. “'l'mﬂiiﬁmdﬂ(ﬁﬂ:i ..... state of India. '-
(A) 1st
(B) 28th
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73 Part of the pla
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| JO) Root
(1)) Leaf
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L, City 18 called “The city of Lakes”

(A)~ Hyderabad |
) Udaipur ‘

(C) Kerala .\

(D) Warangal
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76. From which of WMJW is prepared 7
(A)  Milk
(B)  Coconut
M) Sugarcane |
Doo &2 el SATYPBD?
(A) e

(B) Spd

(C) Do
(D) J

77. The centre part of the eye is called ......
(A) Iris
(B) Taste buds r
Ear drum ;
(D) Sweat pores A

W%w%m
(A) =86 n:
(B) ooRaes ()
© e (' '

(D) Spstogres

78. Thn caplta.l ufhdm 19 \as

m"

(C) __Humbai
(D) Patna
<
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(A) f*wmmh‘ht Mouy of India
lh‘““hﬂle““t .

() Psyehologig

(D) Gealogst

(C) D30y Ty

S0 Traffic rules are to be followed to avoid ...

i JA) Accidents |
(B) Running f
(C) Walking
(D) Jumping
(A) P=rotee
(B) 2WNQYE2
(C) [EREe
(D) &30

81. Children's day is celebrated every year on
(A) 2nd October
(B) 5th September
i '(m‘-.ul'&th Ausult
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“Farmer's friend” ?

Jled #%
82, Which of the following i#
(A) Rat
(B) Cat
i€7 Earthworm
(1)) Deer
S+ 308 onadt 420 DOOIUD O
(A) o3
(B) 50 |
(C) oaduss |

(D) oo

This is not an Electrical
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ich animal is found on the Ashoka's P

illar ?
m l..llﬂ“
(C)  Deer
(D) Elephant
8% amiop Mbod moBsy DAY
(A) beire
(B) O
(C) ok

(D) Dxeo

\ y s 3 ?
Which of the following plant root is takunin our food
(A) Tomato )
BY~ Carrot )
() Brinjal

(D) Apple | ?
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Find the odg Ole
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‘Q-No. 98.100) Which figure comes next in the given sequence ?
(Q.No, 98-100) 2. Ssed® DETD S5 SO0, Kdonon.
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1 B 41 A 81 D
2 D 42 D 82 C
3 D 43 A 83 D
= D L4 A 84 D
S C 45 C 85 A
6 B 46 C 86 B
7 A 47 A 87 A
8 B 48 C 88 B
9 C 49 D 89 D
10 B S0 C 90 A
11 C Sl A 91 B
12 B 52 D 92 A
13 B S3 D 93 C
14 B o4 A 94 A
15 B S5 C 95 B
16 D 56 C 96 C
v By 4 D S7 A o7 B
18 B S8 A 98 C
19 A 59 A 99 A
20 C 60 B 100 B
21 D 61 B
22 A 62 B
23 A 63 D
24 D 64 D
25 D 65 D
26 A 66 B
27 B 67 A
28 C 68 D
29 A 69 C
30 D 70 C
31 A 71 B
32 C 72 D
33 C 73 C
34 D 74 B
35 B 75 B
36 A 76 D
37 D 77 A
38 A 78 B
39 D 79 B
40 D 80 A
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